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Fach section carries 30 objectives type ol questions.
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3. There will be lour possible answers to every question. Candidates are required to fill correct answer in
the OMR sheet with Black ball pen only.
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4. For each correct answer, 1 mark will be granted and 0.5 mark will be deducted for every

Wrong answer.
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5. Ifacandidate gives more than one answer, It will be treated as a wrong answer and half mark will he
deducied, There will be no penalty for guestions left unanswered.

IfE aparell U WeT 1 Gwi¥ U § OIS dR AT & O 98 T Sl HiF] HI0 8
bl 05 sie w1 forar wmEm ) B gy wel @ o) i siw 7€ @rer W)

6. Candidates should not mark in the question paper. They can usc blank pages provided in the question
paper far rough work, '

apane] Yy g A Y av @ e T g | <6 @ @l us O @ WY Her @il
gte @] AN @Y | 7

7. To be cligible to gualily, candidate must obtain minimum 40% marks cach in section 1-& 11 separately
and a minimum of 30% aggregate in total.

sreapel] &) Swhel 89 @ g a1 e Ao 2 # gale d o4 [ $F 40 vRsa & arn
aifrard & aife wel sie @1 ~yeom s0 wiows 291 sifamd §

PART | : GENERAL KNOWLEDGE

1. The longest river in the world s -

fyefaften % € o B wae o) ) w4 O &

. Nile. At
b. Brahmaputra ARG
¢ Amazon, HHHA

d.  Mississippi. firehfRry

1J

If the plane of the carth’s cquator were not inclined to the plane of the carth’s orbil,
AT Tt # e W SN gudl o1 WA g A 2 A
a.  The vear would be longer. TN T E
The winters would be longer ufdai o 88N
I here would be no change of scasons®Te F1 H1g qfad+ =81 &
The summers would be warmer. Af84] 3R 79 2+H

=

[<S &

3. In which type of rocks are coals and petrolcum found?

T 9PN B TCEH § Fgen U9 ugiferms url Al §

a4 Granite. Heige
b. lgncous. Iy
¢. Metamorphic.  wyiaRa
d. Sedimentary. TEGC

4, Larth™s crust below the oceans is composed of -
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e Teee ¥ ATErn @ A9 @) gedt o | q9 R

a. Sedimentary rocks. TAwE] FEeT
b. Igncous rocks, AL dedH
¢. Metamorphic rocks. FATRT AEeT
d. Both (b} and (¢). gl (by HIY (&)

5. Which af the lollowing is the largest producer of coffec in the world?
frtefaa § @ gfva & G 991 PO TES B B

a. Argentina. ST

b. Brazil. PIEA

¢. India HRG

d. Sri Lanka. i o ‘

6. India liberated Goa lrom the Porluguese in -

Fr & ad H e A A @) gEmiE | gE e

a. 1948
b. 1963
¢ 1961
d. 1960

-

I he famous ruler-of ancient India who towards the end of his lifc is said to have converted to
Jainism was:-

c1di4 Ra & s e frer o A @ o @ R S e F afiteda -

d Sumudragupla, SqET
b. Bindusara. fagar

¢ Chandragupla Maurya. dgip Wt
d. Ashoka. aTsTERT

8. Babar entered India for the first time from the West through?

AT AT F TR A qRd ¥ fa A @ sl -

a. Kashimir. TR

b, Sind. f¥ig

¢ Punjab. Lmict

d. Rajasthan, hrveli

9, The vernacular Press Act was passed by:-

aeATEe S0 R e g oite e T

a. Lord Curzon, oAl @

h. Lord Wellesley.. TE Jeee
¢. Lord Lvtton. s slged
d. Lord Hardinge. dfe =i

10. Alauddin Khilji introduced market reforms:-
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AATSEA fegea! 7 e TR gun @ gwe &

a. Toadminister his subjects well. e fawgr @7 ol e @ e

b. Toeasy the peasants' living, fhue & Yan 3 g

¢, To maintain u large army economically aTRF T & 751 91 & a9 was & fau
d. o remove mediators. ol 6l geF & fen

11. Which provision of the Fundamental Rights is directly related to the exploitation of children?
T o AR @ greud § gedl & 9T § gEtes §)

Article 17. AT 17

Article 19 H{@E 19

Article 23. T 23

Article 24, AT 24

12. A money bill passed by the Lok Sabhu has to he passed by the Rajya Sabha within:- a1
T W T w1 e s R4 & ofiey s g wive e o anfge |

N

a. 14 days. 14 f&s
b. 21 days. 21 39 ‘
¢. | manth. 1 #WE
d. 3 months. 3 AE

13, Value of vote of each member of the Parliament in the Electoral College is:-
wrEuld @ gAld A Ued AeeNTEies @ G o Hed 9l BY
a, 688
b. 788
c. ROR
d. 708

14. Which Indian movie hus won the best tilm and best script writer awards at the Asia New Talent
Awurds in the 2016 Shanghai International Film festival? a4 2016 Wurg daesg f5ew
wfteas i faw awdm e 7 Fedre frew ol wdde e w1 o offar?

a Detective Chinatown. f&fes agen
b. land of the Little People. wve diw faeq diua
¢. Thithi, g '

d. One Night Only. T MEE HeA

15. The 12th edition of Joint Military Exercise “Nomadic Elephant™ in India was wilth which under
mentioned country”

dived U B OYE B s A Tdise wid oY e e g B T e’

A Australia, s fer
b. Japan, iEin
¢. Thailand, DIREE
4. Mongolia. Hemar
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16. Which city hosted the 2017 annual convention of the African Development Bank (AIDB)
Group?fdhw bee 2wl R &6 WE @ 2017 Ts FHe @) Foar @

a. Valencia, deita

b. Gandhinagar. RICIELE

¢ Lishon. = ¢
d. Shanghai. qug

17, Which ol the lallowing is not a bone in the legs of a human body?

g B ud g e @ T 3 wSE TE 2

a. Radius. Jfeww
b. Tibia. o
¢. Femur. FEE
d. Fibula, Il

8. Sweat glands occur in greatest number in the skin of the :-

T HeE we §EdT | TEAT AR Fw gt 8¢

a Torchead. Hi
b, Armpits. R
¢. Back: LI
. Palm of hand, B
¢
19. Bload grouping was discovered by:-
o TR H W e
a. William llarvey. afew '
b. Karl Landsteiner, FTE PeeinY
¢. Robernt Koch. T e
d. Louis Pasteur. FgH UvER

20. Sodium metal is kept under?E e o FET @ @l 87

a. Water. =

b, Alcohol. SEiEel

¢c. Peuol.. L

d. Kcrosene, et &1 el

21, The element required lor solar energy conversion is:-
il & wulav & e sess o a g7

a. Bervllium. ERELL J
b, Silicon. fafpeni

¢. Tantalum. ToAq

d. Ultra pure carbon. g =



22, Which tvpe of fire extinguisher is used to extinguish petrolcum fires?

Teifemm # o w gena & (e @ meR # v w 8?
a. Foamtype. B 2Ry
b. Sodaacid type. Ve RS TIs9
¢ Powder type, TaeY 2y
d. Nonc of these, gad @ wrd T

23, One horscpower is equal 10;-

T TreiEE | fdad die {10 8 ¢
4. 736 watts. 736 ©E
b, T46walts. 746 TT
¢, 748 watts. 748 TE
d. 756 walts, 756 AT

24, When ice melts into water. its:-

wa gty i Read & -

a.  Volume increases. Wil addl B
h.  Mass imcreases. o e ]
. Volume decreases, Uil N BT B
d. Mass decreases. T T @

25. Anemomeler is an instrument used to:-
ulRsiiER @ AT #
4 Find the wind direction. =7 e
b, Measure humidity. 4 §
¢, Measure wind speed. =1 @ A
d. Measure precipitation. EEIECLR]

- Which of the following is not ene of the working areas of the International Monetary Fund{(IMF)?
T F EA W U HIE WS, B B @ g TR &
a. Foster global monetary cooperation.
Aty [l vz &) gorar &
b, Facilitate international trade
Fereidly g @) R
¢. Reduce poverty around the world
gfamy 4 add w0 weE
d. Design National intetlectual property agreements.

Tt difge dugr weEidl B aEe

(5%
o



27, Which ol the taxes are not covered under Goods and Service tax(GST)?

Sr=riaifarg oyt 4 @1y Duwd), F 98 T8 5

a. Octroi Tax. gy Y

b. Value Added Tax. o TEE o
¢. Central Sales Tax. Fegra R @
d. CustomsTax THEH @Y

28. Which one of the following was the earlier name of Tokyo?
Sradl &1 ydadi =1 @ -

a: Osaka e
b. Kyoto. FaTe
¢. Samurai. AR
d. Edo. NS

29. Father’s Day is celebrated ont-
WIde S A FAE S ¥

a. 3" Sunday of Jun. T @1 Frew AR
b. 1% Sunday of Jun. W @l g ER
¢. 1™ Saturday of Jun. o s Ero s i
d. 3" Saturday of Jun. o e wfEER
301 India’s rank on the Human Development Index (111)1) out of 188 countries:-
188 N ¥ | ¥R @1 Aed Qe YEaie 79 87
a. 135
b 131
c. 97
d. 186

31, With which of the following sports is Jeey Milkha Singh associated?

Alg e e as 9 38 &7 d
a Hockey, g1
b. Athletics. e
¢ Golf. et
d. Wrestling. ol

32, FAce Against Odds” is the story of this iconic Indian Player:-

V0 SR it T wag faend) &) sae 87

a. Md Azaruddin, Alo dAeERTgarT
b. Sania Mirza. wfaa fial

. Saina Nchwal. g TEaw

d. Leunder Paes. foreee o

7



A

33. Who has won the 2017 Formula | Monaco Grand Prix World Championship?

GTiE 7 A T S SRy ey dd? ‘

.,
b
C.

d.

Kimi Raikkanen.
Sebastian Vettel,
Valtteri Boftas.

Daniel Ricciardo.

A TEF
Riquidy deoa
fams fRwdlsne!

34. Which football ¢lub has won the 2017 UEFA Champions League trophy?
ot 2017 gEywa wRAfa fra geala ao@ =1 wide

o B8 SRS I

Juventus.
Milan,
Bareelona.
Real Madrid,

A=y
e

CuEie
[Rus wfge

53, Which Indian pair have won gold in mixed team [0m air pistol event at 2017 Intemational
Shooting Sport Federation (ISSF) Gabala World Cup?
fr v TR T = 2017 seehdlu uiYn @9 e w3 § A S o ex fiew
T # W ugE i | "
Sanjeev Rajput and Anjali Bhagwal. WS TG Ta St A

.

b
c.
d

. Apurvi Chandela and Jitu Rai.

gl dden ¢F o I

Anjali Bhagwat and Omkar Singh. ForiE WrTET UE aiwenw [HE

. Titu Rai and Heena Sidhu.

g v vd A1 fagg

36. Communication Compatibility and Sceurity Agreement (COMCASA) has been signed between

a4,

b

<.

d.

United Kingdom.
[taly.

[ nited States of America.

France.

India and? WETE GETEAT 3 geen wHeia o AN e few o 2w & dm w5 @ ¥
e

geoft
arFfeET
I

37. Who is the Indian Ambassador and Permanent Representative w the United Nations

FgEE # Awdt augl d@R e gfehf we e

er o R

Swaraj Singh Chauhan,

Rajiv Kumar Chander.
Rajesh Chauhan.
Kushal Singh Rajawat.

vavrst e e
IHiE FAR GG,
ey drEH



38. RuPay is refated to - RuPay  fhad yidida 8—
a. Rural pavment of wages office of India
ARG B Fogy daid &
h. National associations for facilitation of Rural payments

At el % fEg wees
¢, National pavments corporation of India

Ay raE A i
d. Russia Pay. a Russian competitor of Paypal

il daA

39. The 52* Inanpith Award was conferred on?523 STrdte gewan O fram weafe faman mar?

4. Shankuarachurya, Y
b. Sankha Cihosh. T O
¢ Amir Khan, iy @A
. Pranah Mukherjee. TR g

40. Who was crowned the Miss Universe 2016731 2016 & fiw yfadd #1 firam foee o

a. Jeanette Epps. wHE T

b, Lucit Sarfarova, S eI
¢c. Pia Wurtzbach. fomr gdaw

d. Iris Mittenavre. HERe o

41. Which city hosted the 2017 Shanghai Cooperation Organisation (8CO) summit?
et wee 1 ad 2017 FETE SHEGTT WS MR s @ iwEE B

a.  Dushanbe, aygfy
b. Astana AR
¢. Beijing, s
d. ‘laskent aAmEE

42, India’s first automatic coastal waming for disasters will come up in which state? |

e weg | W @ el walda adm A amgr?
a. laml Nadu. AT

b, Maharastra, HEINIEL
¢ Odisha. ST
d. Andhra Pradesh. Hragdy

43, I'he Indian Space Rescarch Organisation (1SRO) has successfully launched a record 104 satellites
from which rocket vehicele? '

AT st sqEUE 4 [ dBT AET § FraanEs 104 QU B gIRe fEar

a. PSLV-C38 ‘
b. PSLV-C37
¢. PSLV-C36

d. PSLV-(C35



44, Which country has officially recognized Biteoin and digital currencics as legal money?

faw 3 7 eRs dy u ReaiyH v BReT gemsdt =1 Fr=a &7

a
b
¢

d

Australia.
China,
North Korea.
Japan.

anfegferm
B

Taoe Far
AP

45, Rustom being developed by del research development of india (DRDO) is the name of -
A # v Y argEurE Re g BEfiE W e ven fawe am R

a
b.
e
4

Fighter aircraft.
Artillery gun.
Hovercraft.

. Unmanncd Acrial Vehicle,

g
LT Dices
e e argd

46. Which of the following crafismanship was not practised by the Aryans?

fyfaifag 4 O @= O B Few et g anarg Aw @ ad |

a.
h.

d.

Pottery.
Jewellery.
Carpentry.
Blacksmith.

faed) & o=
SIb Akl

ggd AR
HER

A

47. Which of the following Sultans of Tughlag dynasly issued copper coins instead of silver ones?

S a9 # Prefafes ger 3 9 o @ Ried &) 9om T 7 e e ol (B

o

b
C.
d

Fervz Shah Tughlag.

Muhammad Bin Tughlag.
Ghiyasuddin Tughlag.

Mahmud Tughlag.

fraraTs gres
qoeg @4 giets
mﬂlg qéin LEEED
bRt Gl Ui

48. 1he capital of the kingdom of Maharaja Ranjit Singh was:-

ofEare & mERE & ow @) JouE @ oo

a
b.

[

~

1.

Patiala.
Amrilsar.
l.ahore.
Kapurthala.

giearen
AR
TR
BT

49, The first Indian ruler to organise Haj pilgrimage al (he expense of the state was:-
Qo @) BT TR F AT BT DTS TR ATl Ysell wRdl SEE B o1

&

h:

[

-~

Alauddin Khilji.
Feroz luglaq.

Akbar,

Muhammad 'l'ughfag.

e goreie
Ha
AemE gae

10 3
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50. Which of the following animals was known Lo ancient Vedic people?
e W 3 9§ B e e 3Rk el @ @ S ar?

a. Elephant, gief)
b. Boar. B3GR
c. Tiger. #rar
d. Lion. =

PART II : ENGLISH

Analyse the contents of the passage and answer the questions that follow

Religion is the greatest instrument for so raising us. It is amazing that a person not intellectually bright.
perhaps not cven educated, is capable of grasping and living by something so advanced as the principles of
Christianity. Yet, there is a common phenomenon. It is not, hawever in my grovinee to talk about religion,
but rather to stress the power which gresit literature and the great personalitics whom we meet in it and in
history have 1o open and enlarge over minds. and to show us what is first rate in human personality and
human character by showing us goodness and greatness.

51. In the passage. the author’s ultimate intention is to talk about
(a)  Religion
(b)  llistory
el Education
(dy  Character

A
13

. I'he phrasc *so raising us' means
{a) Giving us a sense of spiritual superiority
(b) Making us feel that we arc more important thun we really are
(c) Improving our mental abilities
(d) Making us realise (hat we all are children of God

w
(e}

. What surprises the author is 1hat
{a) Fiven uneducated people are attracted towards Christianity
(b} Christianity is practised by a large number of people
{c) Despite being difficult and complex. the principles of Christianity are practised by so many
peaple
{d) Even very intelligent people cannol understand the principles of Christianity

34, The author hesitates to 1alk about religion because
(a) Te does not feel himself competent to talk about it,
(b} Nobady around him likes to talk about it
(c) He does not believe in any religion, '
{d) He does nat lully understand its importance

11
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53, According lo the author, we come across examples of greatness and nobility in
{a) Great works of literature
(b) Literarv and historical works
(c) Historical records
(d) Books on Christianity :

In each of the following sentences, find out which part of the Sentence has an error

56. 1 hoped that the train (apwill arrive on time, (b)/but it did not{c). No error {d)
57, All the candidates (a)/ felt that this year's (b) / guestion paper was very casy.(c)/ No error(d).

38, Children who have had good pre — school education (a) /are most likely to outdo (h) / other
children at school, (¢} Noerror{d)

39. She was told (1)/ to give the award to whosoever (b) / she thought has done the most for the
downtrodden.(c)No error ).

S1 and S6 are the first and the last sentences of a paragraph respectively. The middle four
sentences viz P, Q, R and S are given in jumbled order. Rearrange the four partsin a
meaningful sequence and then choose the correct order from the alternatives provided.

i

b1, S1: We don’t see many banyan trees in our cilies now-a-days.
S6. And every village bas al least one.

P: But in our overcrowded cities, where there is barely enough living space for people,
hanvan trecs  don’t have much of a chance.

; Thest trees like 1o have plenty of space in which 1o spread themselves out.
R: Of course. many parks have banyan trees,

S: Afier all. a full grown banvan takes up as large an area as a three — storey apariment
building.

The proper sequence is:-

(a) PQRS

(b) QPSR
(<) RSO
(d) SRPQ

12
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S1: The future beckons to us.
S6: There is no resting (or anyone ol us until we redeem our pledge in lull.
P: In fact we have hard work ahead,
Q: Where do we go and what shall be our endeavour,
R: We shall also have to fight and end poverty, ignorance and disease.
Sz Tt will be to bring freedom and opportunity Lo the comman man.
The proper sequence is:- 7
{a) PSRQ
(b) QPSR
(c) QSRP
(d) SRPOQ
S1: There has been an alarming increase in the number of vehicles on Delhi roads.
S6: Should the pedestrians® case be allowed to go by defaull?
I: The pedestrian has, however. been the worst sufferer.
(Q: There is no place where the pedestrian can move freely without the fear of traflic.
R: Zebra erossings like the pavements are no longer safe.
S: ‘I'his has further aggravated the problem of pollution in the city,
I'he proper sequence is-
(a) PORS
ib) SPRQ ‘
{c) SQRP
(d) SRPQ
S1: Lifc is hazardous.

S6: Evervthing points o a special kind of arms race with ¢laborate strategies and counter —
strategies for artack and defence,

P: And preys have evolved adaptations that reduce the risk ol being eaten.

Q- Many animals are killed and eaten by other animals.

R: And many predators dic from starvation because they fail to secure prey.

S: Predators have continued (o evolve adaptations that enable them 1o locate and kill prey.
The proper scquence is:-

(a) QPRS
(b) QRPS
(c) QRSP :
(d) SQRP



In each of the following questions, chose the alternative which best expresses the
meaning of the idiom/phrases printed in bold type.

(4. Foar in the mouth
(a) Bitten by a snake
(b) To reveul the secret
() Tuo be furious
(d} To bein the extreme hatred

65, To show the white feather
(3) To show signs of cowardice
{b) To seck peace
{¢} To show arrogance
{d) lo become polite

66. To be at one’s finger’s end ‘
(a) To be hopeless
(b) To be highly perplexed
(¢) To be completely conversant with
(d) To count things

67. To ride hell for leather
{a) To ride with furious speed
(b) T adopt falsc means 10 succewd
(c) To work hard for a small accomplishment
{d) To earn money by all means

68, To sail close to the wind
{a) lotake risk
(b) To manage the situation
(¢} To work hard
(d) To be regular

i

In cach or the following questions, a sentence has been given in Active ( or Passive) Voice. Out
of the four alternatives suggested, seleet the one which best expresses the same sentence in
Passive (or Active) voice.
69. Please help me

(a) You were requested to help me

(b} You arc being requested 1o help me

(€) You are requested to help me

(d) You have been requested 1o help me

14
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One should keep one’s promise

{a) One’s promise should b kept by us
(b} One's promisce has 1o be kept

(c) A promise should be keeping

(d} A promise should be kept

A lion may be helped even by a little mouse
{a) A little mouse may ¢ven help a lion

(b) Even a little mouse may help a lion

{¢) A lile mouse can even help a lion

(d) Even a littlc mouse ought 1o help a hon.

72. People claim to have seen the suspect in several eities

(2) The suspect is being seen in several citics

(b) T'he suspect has been seen by the pevple in several cities
(c) lhe suspect is claimed to have been seen in several citics
(d) The suspect was seen by people in several citics

In cach of the following questions, out of the given words, one word is mis- spelt. Find the mis-
spelt word. If all words are spelt correctly, answer is ‘All correct’ ie (d)

73

74.

=l
=l

(a) Semester ‘

tb) Senesent
(c) Scnsory
(d) Salacious

{a) Stupor
{b) Invador
{c) Personnel
{d) Proposal

{3} Conlidence
{b) Successfull
{c) Adumbrate
(d) All correct



A

Choose the word which best expresses nearly the same meaning of the given word out of the
choices given below. '

76. ERUDITE
(&) Strong
(b) Precious
(c) Leamed
(d} Courteous

77. INSIPID
(a) Lucid
(b} Flat
(€) Wily
(d) Witty

T8 EMPIRICALLY
(a) Intuitively
(b) Verbally
{c) !hrough written communication
(d) By obscrvation and experiment

7Y, REPUGNANT
{a) Amiable
{b) Repulsive
{c) Amoral
{d) Apolitical ¥

80, ESTRANGE
(a) Puzzling
{b) Endanger
{c) Alienule
{d) Miscalculate

Choose the word which best expresses the opposite meaning of the word out of the choices
given below,

1L MODICUM
{a) Simplicity
{b) A large amount
{c) Brazenness
{d) Immaodesty

82, FACTITIOUS
(a) Ridiculous
(b) Cienuine ¢
(c) Engincered
(d) Magnilicent

16



83, OVERWRONICGH
{a}) Alert
{b) Alive
{¢) Excited
{d) Calm

84, CULPABLE
(a) Irresponsible
(b) Careless
(c) Blameless
(d) Defendable

83 TACKL
{a) Order
(b} Written
(c) Oral
(d) Understanding

Pick out the most effective word from the choices below to fill in the blanks to make the

sentence meaningfully complete.

86 A cup of water was enough to ...... his thirst
(a) satisfy
(b) appease
{c) guench
(d) cxlinguish

87, Some of our external problems have completely
ta) heguiled
{b) beilaboured
{c} baftled
{d) blustered

88. The sirike in the paper maill bas resulted ina ...
{a) commendable
{b) veluminous
{c) colossal
{d) comprehensive

' ...... our national leaders

... Loss.

89. A cheerful man ..., all difficultics and hardships with a smile on his face.

(2] challenges
ib) embraces
(c) resists

{d) endures

17
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For the underlined part of the sentence below choose part of the sentence from given choiccs,

to correct or improve it. 2

9. Searcely had lie feft when his friends came.
{a) He had leii scarcely
{b) Ile had scarcely left
{c) e scarcely had left
(d) No improvement

oL

L vour brother and you will be partners.
(a) L. you and vour brother

(b) You. vour brotherand [

(c) You, Iand your brother

{d) No improvement.

92, His salary is not adequate for him to make the both ends meet
{a) make hoth ends meet
{b) make both the cnds meet
{c) make both his ends meet
{d) No improvement.

Rearrange the following part of the sentence to form a meaningful sentence
Y3, myv brother (P} / to attend his friend’s wedding(Q) / is going to Chennai (R} / tomorrow(S).
{a) PSOR
{b) QPSR
{c) RQPS
{d) PRSQ

94, She had a blind belief that inside the bag — two or three other children(l?) / there were perhaps (Q)
“which the big man carried (R) / like herselfiS).
{a) QRPS
{b) QPSR
{c) RQSP
(d) ROPS

95, He approached the teacher — at school (1M to know{(Q) / in his studics (R) / how his son was
getting on(S).

(a) PQRS
{b) PQSR
[c) QSRP
{d) QSPR

i
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In each of the following questions, out of the four alternatives, choose the one which can be
substituted for the given sentence.

96, Parl of church in which hells hang
(a) Minaret
(o) Chapel
(c) Bellry
(d) Spire

97. To slup with a flat object
{a) Hew
(b) Swat
(c) Chop
(d) Gnaw

98. A man who starves body for the good of soul
{a) Monk
(b) Ascetic
fc) Saint
{d) Spiritualist.

949. A person who forsakes religion
{a) Charlalan
{b) Apostle
{c) Renegade ¢
{d) Apotheesis

100, A person sharing responsibility for a political party’s discipline and taclics
{a) Statesman
(b) Diplomat
[c) Whip
(d) Defector
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